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1. (8 points) Consider the endpoint problem
¥+l =0, y0)=0, y(2)=0.

Is A = b an eigenvalue? If so give an eigenfunction, and otherwise explain why not.
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2 @ ~4—(8—)p0mt's) Use the method of elimination to solve the following initial value problem:
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3. (12 points) Find the following Laplace transforms and inverse Laplace transforms:
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i 3 (& points) Use the Laplace transform to solve the following initial value problem:
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5. (8 points) Using the definition, find the Laplace transform of f(¢), where f(t) =0 for 0 <¢ <2
and f(t) =2fort > 2.
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6. (7 points) Transform the following system into a first order system:
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LAPLACE TRANSFORM
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e’ where u(t — a) is O when t < a, and 1 when t > a

e % where §(t — a) is a unit impulse at time t = a



